
4.334

4

������

������	
���
�������
�������������������

�����

�� 

���	
�

!"

�#



4.335

4

�����

��������	
��
������������

����
��������

����� ��
!"�#��$���
%&

��� &�'()*��+)���

��
, 0.1 ~ 1 - /01.2 �� 1SMC

�� $

%&'( )*+, ��+, ��+, ��+, %&'( )*+, ��+, )*+, ��+,

-�./

23456789 :;<=��
>

?@ABCDEF

 Pascal's Principle

��

GHI

=��

��

��J

KL��J

M3� JN� JOPQR
89;S��
TU

PA • A = PB 0• B PB = A/B • PA

P F��J�
A

F��J�
PB

F��JR�VWA

F��JR�VW

PXY�ZR�VW

B

[\]��
 B ^[�>_`abcdeYf��
 PB <=ghijPB >k��J

Ol��^mnKLOopkqr>

st �
<uvwx�l��

��
<uvwF��J�
N��J�
Ovw

 (A/B)

�
<uvw

.�l�� VW

 1 : A/B

./KLop1B x



4.336

4

�����

12345 789:

;<=>?@AB=CCBDEBF>G
��H =I@

JK�L 100cm⁄

y�z

{�z
2-Rc 1/8

��z

Rc 1/4

��z
Rc 1/4

4-M10x1.25
4-M8x1.25|

4-M8x1.25
15

/��z1
Rc 1/2

/�}z1
2-Rc 3/8

4-M16x1.5
4-M12x1.5

4-M20x1.5

��z
Rc1 1/4

~�z
Rc1 1/4 2-Rc3/4

;MNO=CCBPCQRSBNAR
��H =I=@

JK�L

4-ø24

;T=O?NCCBM@G=CB=@D
��H =IND

JK�L100cm⁄

;T=O?=@CBM@DNRBRC
��H =IANUS

JK�L

165cm⁄

;T=O?NCCBMRGCDBADC
��H =IGG

JK�L80cm⁄ 350cm⁄

/��z1
Rc 1/2

/~�z1
Rc 1/4

/�}z12-Rc 3/8

;EMNO=GCBPGDSRB=RC
��H =I=NUND

JK�L

4-ø19

180cm⁄

4-M12x1.5
4-M20x1.5

/~�z1
Rc 1/2

/�}z1
2-Rc 3/4

/��z1
Rc 1/2

/�}z1
/�
2-Rc1/2 

��}�1¢x§

~�z

Rc 1/4

���V/WK�XY�+,

���Z[
��H
7\:

]Y^_��
(MPa)

]Y^K��
(MPa)

�`aK� (Kgf)
JK�L

(cm⁄)

Y�+, (mm)
�``b (mm) �``b (mm)

50 63 80 100 50 63 80 100

 CA1BH63-100-5D-XB4 6 0.69 4.1 829 1316 2122 3315 100 51 32 20 13

 CDQ2L140-P4578-180 12.25 1.00 12.3 2452 3893 6277 9809 180 92 58 36 23

 CQ2L100-P0987-238 16 0.87 13.9 2786 4424 7133 11146 100 51 32 20 13

 CS1LH200-Q6410-165 25 0.56 14.0 2802 4449 7174 11210 165 84 53 33 21

 CS1LH160-Q6528-80 32.7 0.40 13.1 2618 4157 6703 10473 80 41 26 16 10

 CS1LH200-Q8405-350 44 0.32 14.1 2818 4475 7215 11274 350 178 112 70 45




